AUTO

tronG

MexaHu3MPOBAHHBIC TATPOHBI

“Auto-Strong”

MPOM3BOUTEJIA
Di Chun Iron Work Co., Ltd
(TanBaHb)

Certificate of Registration

This certifies that the Quality Management System of

Di Chun Iron Work Co., Ltd.

No. 7, Jingke 1st Road,
Nantun District, Taichung, Taiwan

has been assessed by NSF-ISR and found to be in conformance to the following standard(s):

ISO 9001:2008

Scope of Registration:
Manufacture and design of work holding chuck and rotary hydraulic cylinder.

Certificate Number: 1325-154 %@:ﬁ

Certificate Issue Date: 04-SEP-2016

Registration Date: 04-SEP-2016 Carl Blazik,

Expiration Date *: 14-SEP-2018 Director, Technical
Operations & Business Units,
NSF-ISR, Lid.

NSF International Strategic Registration

789 MNorth Dixboro Road, Ann Arbor, Michigan 48105 | (888) NSF-9000 | www.nsf-isrorg

tion aud for Ad Marks. This certificate is property of NSF-ISR and wust be retumad upon request.
*Compauny is sudited for conformance nt regular intervals. To verify regisiations call (838) NSF-9000 oc visit ow web site at wwrw.nsf-isomg

Odunuanbubiii npeacraBuTeb B Ykpanne: 000 «HITO HUKA CEPBUC»
www.nikas.com.ua e-mail: tools@nikas.com.ua (057) 764-30-60, (057) 777-02-72



Cepus N

3-KyJ1a4KOBbIN NATPOH (0e3 aganTepa)
BoJjiee kpynHoe orBepcrue: CaMplii 00J1b11101 JUAMETP B NATPOHAX ¢ KJIMHOBBIM IIPUBO/IOM.

AUTO

Siron

NIYKA

., T
E ——
= (]
—_ |7___ >-
7 o : ,
|
£ X
-~ ~

[+]

=]

™

ﬁ [ 5 =1 J

@}

Mopenb | CkBo3Hoe | Xopg Xop, Makc. Makc. Makc. Makc. Macca | MomeHT Tun Tun Tun 3aXKMMHOM
oTBepcTue | TArM | Kynaukos | Yeunue | Yemnue | Pobouee | Ckopoctb | (Kr) MHepuuu | uuamHgpa | TBEpAbIX | MArKUX AnanasoH

(Mm) (Mmm) (Mmm) TAMN 3akuma | pasnenue | (06/muH) (Kr*m Ks) KY/IauKOB | KyNauKoB (Mm)

(krc) (krc) (krc/cm)

N-204 26 10 5.4 1428 2906 31.6 8000 4 0.007 M0928 HJ05 HC04 4-110
N-205 33 10 5.4 1784 3671 28.5 7000 7 0.018 M1036 HJO5 HCO5 6-135
N-206 45 12 5.5 2243 5812 28.5 6000 13.5 0.057 M1246 HJO6 HCO06 15-169
N-208 52 16 7.4 3558 9075 26.5 5000 23 0.17 M1552 HJO8 HCO08 20-210
N-210 75 19 8.8 4385 11319 27.5 4200 35 0.315 M1875 HJ10 HC10 25-254
N-212 91 23 10.6 5812 14990 27.5 3300 56.5 0.737 M2091 HJ12 HC12 30-304
N-215 117.5 23 10.6 7240 18355 235 2500 111 2.27 M2511 HJ15 HC15 50-381
N-218 117.5 23 10.6 7240 18355 235 2000 131 3.55 M2511 HJ15 HC15 50-450
N-220 180 23 10.6 9177 23861 30.6 1800 190 6.5 ML281 6 HJ24-1 HC24-1 120-510
N-224 205 26 12 9177 23861 26.5 1400 270 14.8 ML3320 HJ24-1 HC24-1 150-610
N-232 230 34 18 10197 24472 29.5 1200 470 41 ML3320 HJ24-1 HC24-1 210-800
Mogenb | A B ¢ D H J K L M N o 0 P P Q| R S T v W | X Y

(H6) max. | max. | min. [ max. [ min max.

N-204 | 110 | 59 85 14| 70.6 16| 3-M10x60 26 41 23.2 | 13.75| 6.75 3.5 -6.5 |2|10|17.5|23| M32x1.5 | 38 |24 49.5
N-205 | 135( 60 | 110 |14| 82.55 (15 3-M10x60 33 41 26.5 | 19.75 | 7.75 1 -9 2110 20 |25 M40x1.5 | 45 |31]| 54
N-206 | 169 | 81 | 140 (20| 104.78 (16| 6-M10x80 45 5 32 22.75 | 9.25 11 -1 2112 19 |31 M55x2 60 (37| 73
N-208 | 210 91 | 170 |25( 133.35 | 20| 6-M12x90 52 5| 387 | 29.75| 11.75 | 145 | -1.5 |2(14]20.5|35 M60x2 66 |38 95
N-210 | 254 ( 100 | 220 |30 171.45 (22| 6-M16x100 75 5 51 33.75 | 1425| 85 [-105|2|16| 25 |40| M85x2 94 (43| 110
N-212 | 304 ( 110 | 220 |30 171.45 (23| 6-M16x110 91 6 61.3 | 45.75 | 15.75 8 -15 (2(21| 28 |50 M100x2 | 108 |51| 130
N-215 | 381133 | 300 (43| 235 |30| 6-M20x135 | 11756 | 82 45.25 | 15.25 7 -16 [5(22| 43 |62 M130x2 | 13966 165
N-218 | 450 | 133 | 300 |43 235 30| 6-M20x135 | 1175 6 82 79.75 | 15.25 7 -16 [5(22| 43 |62 M130x2 | 139 |66| 165
N-220 |510( 134 ] 380 [60| 330.2 35| 6-M24x135 180 |6 | 112.5| 60.5 24.5 11 -12 [5(25| 38 |64| M190x3 | 206 |73| 180
N-224 | 610 (147 | 520 60| 463.6 |35 6-M24x150 205 | 6] 1399 | 875 24.5 16 -10 [5(25| 38 |64| M215x3 | 230|73| 180
N-232 | 800 | 150 | 520 | 60| 463.6 |35| 6-M24x150 230 | 6| 162 153.5 | 245 16 -18 [5(25| 38 |64| M250x3 | 262 |73| 180

Odunnanbuelii npeacrapureb B YkpanHe: 000 «HITIO HUKA CEPBUC»

www.nikas.com.ua

e-mail: tools@nikas.com.ua

(057) 764-30-60, (057) 777-02-72




AUTO [ _~

-Jﬂ’;”[l"r
{

L
Cepus N-A srronG g-._jub'%}m

3-KyJIa4KOBBIH IPOXOAHOM NMATPOH (aJanTep BXOAUT B KOMILICKT)

1.boJiee KpynmHoOe O0TBepcTHE: caMoe 00JIbII0Ee OTBEPCTHE B MATPOHAX ¢ KIHMHOBBIM MPUBOIOM.
2.I1aTtponnl Mogeau N-A codupalorcs ¢ agantepoM s mnunjaenaeid ASA B5.9 tuna A.

N-205~N-218 Serration Pitch 1.5
N-220~N-224 Serration Pitch 3.0

.
— 1
h -=: - u >- %

o

0| D

N

=
@H

120°x3pcs : N-205
J B 15° : N-206~N-218
30° : N-220~N-224

Fig-2 Fig-3
M I ENEG)
QU ~ >‘ " SRS
|| . ===
e -
v I .
l >W L =I[
E : \ K
J B J B

Odunuanbubiii npeacraButeb B Ykpanne: 000 «HITO HUKA CEPBUC»
www.nikas.com.ua e-mail: tools@nikas.com.ua (057) 764-30-60, (057) 777-02-72



AUTO . o~
¥ 3 e
Cepust N-A SironG ..
INIY =
Mogenb | CkBo3Hoe | Xop, Xog Makc. Makc. Makc. Makc. Macca | MomeHT Tun Tun Tun 3a)KuMmHoM
oTBepctue | Tarm | Kynaukos | Yeunue | Yeunue | Pobouee | Ckopoctb | (Kr) MHepuUu | uMAnHAPa | TBEpAbIX | MArKMX | AUaNasoH
(mm) (mm) (mm) TAMU 3axuma | pasneHue | (06/muH) (kr*m KB) KYNauKOB | Ky/NauKoB (mm)
(krc) (krc) (krc/cm)
N-205A4 33 10 5.4 1784 3671 28.5 7000 7.8 0.020 M1036 HJO5 HCO5 6-135
N-205A5 33 10 5.4 1784 3671 28.5 7000 9 0.023 M1036 HJO5 HCO5 6-135
N-206A4 45 12 5.5 2243 5812 28.5 6000 15.5 0.065 M1246 HJ06 HC06 15-169
N-206A5 45 12 5.5 2243 5812 28.5 6000 14.7 0.062 M1246 HJ06 HC06 15-169
N-206A6 45 12 5.5 2243 5812 28.5 6000 17.3 0.073 M1246 HJ06 HC06 15-169
N-208A5 52 16 7.4 3558 9075 26.5 5000 25.8 0.190 M1552 HJ08 HC08 20-210
N-208A6 52 16 7.4 3558 9075 26.5 5000 25 0.184 M1552 HJ08 HC08 20-210
N-208A8 52 16 7.4 3558 9075 26.5 5000 29.3 0.217 M1552 HJ08 HC08 20-210
N-210A6 75 19 8.8 4385 11319 27.5 4200 41 0.370 M1875 HJ10 HC10 25-254
N-210A8 75 19 8.8 4385 11319 27.5 4200 38 0.340 M1875 HJ10 HC10 25-254
N-210A11 75 19 8.8 4385 11319 27.5 4200 48.4 0.436 M1875 HJ10 HC10 25-254
N-212A6 91 23 10.6 5812 14990 27.5 3300 62.5 0.809 M2091 HJ12 HC12 30-304
N-212A8 91 23 10.6 5812 14990 27.5 3300 59.5 0.770 M2091 HJ12 HC12 30-304
N-212A11 91 23 10.6 5812 14990 27.5 3300 69.9 0.912 M2091 HJ12 HC12 30-304
N-215A8 117.5 23 10.6 7240 18355 23.5 2500 125 2.255 M2511 HJ15 HC15 50-381
N-215A11 117.5 23 10.6 7240 18355 235 2500 118 2.241 M2511 HJ15 HC15 50-381
N-215A15 117.5 23 10.6 7240 18355 235 2500 138 2.822 M2511 HJ15 HC15 50-381
N-218A8 117.5 23 10.6 7240 18355 235 2000 146 3.961 M2511 HJ15 HC15 50-450
N-218A11 117.5 23 10.6 7240 18355 23.5 2000 138 3.744 M2511 HJ15 HC15 50-450
N-218A15 117.5 23 10.6 7240 18355 23.5 2000 191 5.183 M2511 HJ15 HC15 50-450
N-220A11 180 23 10.6 9177 23861 30.6 1800 215 7.355 ML281 6 HJ24-1 HC24-1 120-510
N-220A15 180 23 10.6 9177 23861 30.6 1800 202 6.910 ML281 6 HJ24-1 HC24-1 120-510
N-224A11 205 26 12 9177 23861 26.5 1400 332 18.199 ML3320 HJ24-1 HC24-1 150-610
N-224A15 205 26 12 9177 23861 26.5 1400 317 17.376 ML3320 HJ24-1 HC24-1 150-610
N-224A20 205 26 12 9177 23861 26.5 1400 286 15.677 ML3320 HJ24-1 HC24-1 150-610
N-232A11 230 34 18 10197 24472 29.5 1200 530 43 ML3320 HJ24-1 HC24-1 210-800
N-232A15 230 34 18 10197 24472 29.5 1200 515 43 ML3320 HJ24-1 HC24-1 210-800
N-232A20 230 34 18 10197 24472 29.5 1200 485 42 ML3320 HJ24-1 HC24-1 210-800
Mopens [ A [ B ¢ D|E F G H J K L M N o 0 P P Q|R| S (T v v W | X[ Y [WUcn
(H6) max. | max. | min. |max.|min. max.
N-205A4 (135 71 | 110 (14(15| 63.513 96 82.55 |15.5(3-M10| 33 |4 26.5|19.75| 7.75| 16 6 |2(10| 20 [25(M40x1.5| 3-M6 | 45 (31| 54 [Fig-1
N-205A5 (135( 88 | 110 (14|32| 82.563 | 82.55 |104.78| 14 [3-M10| 33 |4|26.5|19.75|7.75| 33 | 23 [2|10( 20 |25|M40x1.5|6-M10| 45 |31| 54 |Fig-3
N-206A4 (169 96 | 140 (20|20| 63.513 (104.78| 82.55 | 16 [6-M10| 45 |5| 32 |22.75/9.25| 31 | 19 (2|12 19 |31| M55x2 |6-M10| 60 |37| 73 |Fig-2
N-206A5 (169 91 |140(20|15| 82.563 | 116 |104.78| 16 [6-M10| 45 |5| 32 |22.75/9.25| 26 | 14 (2|12 19 |31| M55x2 | 3-M6 | 60 |37| 73 |Fig-1
N-206A6 |169(111|140|20(35|106.375|104.78(133.35| 16 (6-M10| 45 |5| 32 |22.75|9.25| 46 | 34 |(2|12| 19 (31| M55x2 |6-M12| 60 37| 73 |Fig-3
N-208A5 (210(109|170(25|23| 82.563 {133.35|104.78| 14 [6-M12| 52 |5 38.7 |29.75(11.75(37.5|21.5(2|14(20.5|35| M60x2 |6-M10| 66 |38| 95 |Fig-2
N-208A6 (210(103|170(25|17|106.375( 150 |133.35| 18 [6-M12| 52 |5 38.7 |29.75(11.75(31.5|15.5(2|14(20.5|35| M60x2 | 3-M6 | 66 |38| 95 |Fig-1
N-208A8 |210(126|170|25(40|139.719|133.35(171.45| 24 |(6-M12| 52 |5 38.7 |29.75|11.75|54.5|38.5(2(14|20.5(35| M60x2 |6-M16| 66 |38 95 |Fig-3
N-210A6 (254(120|220(30|25|106.375(171.45|133.35| 18 [6-M16| 75 |5| 51 |33.75(14.25(33.5|14.5(2|16( 25 |40| M85x2 |6-M12| 94 |43|110|Fig-2
N-210A8 (254(113|220(30|18|139.719( 190 |171.45| 24 [6-M16| 75 |5| 51 |33.75(14.25(26.5| 7.5 [2|16( 25 |40| M85x2 | 3-M8 | 94 |43|110|Fig-1
N-210A11 |254|145|220|30(50|196.869|171.45| 235 | 28 (6-M16| 75 |5| 51 |33.75|14.25|58.5|39.5(2(16| 25 (40| M85x2 |6-M20| 94 (43(110|Fig-3
N-212A6 |304(129|220|30(25|106.375|171.45(133.35| 18 (6-M16| 91 |6 | 61.3 |45.75|15.75| 33 | 10 |(2|21]| 28 (50| M100x2 |6-M12|108(51(130|Fig-2
N-212A8 |304(122|220|30({18|139.719| 190 (171.45| 25 |6-M16| 91 |6 61.3 |45.75|15.75| 26 3 |2|21| 28 [50{ M100x2 | 3-M8 [108(51(130(Fig-1
N-212A11 (304|154 220 (30|50|196.869(171.45| 235 | 28 [6-M16| 91 |6|61.3 |45.75(15.75| 58 | 35 [2|21| 28 |50| M100x2 |6-M20(108|51|130|Fig-3
N-215A8 |381(160|300|43(33|139.719| 235 (171.45| 24 (6-M20|117.5|6| 82 |45.25|15.25| 40 | 17 |[5(22| 43 (62| M130x2 |6-M16|139(66|165|Fig-2
N-215A11|381|149| 300 |43[22|196.869| 260 235 | 28 [6-M20|117.5|/6| 82 |45.25(15.25| 29 6 |[5(22| 43 |62| M130x2 [3-M20|139(66|165 |Fig-1
N-215A15(381(184| 300 (43|57|285.775( 235 | 330.2 | 29 [6-M20|117.5|/6 | 82 |45.25(15.25| 64 | 41 (5|22 43 |62| M130x2 |6-M24|139|66|165|Fig-3
N-218A8 |450(160| 300 |43(33|139.719| 235 (171.45| 24 |6-M20|117.5|6| 82 |79.75|15.25| 40 6 |5(22| 43 62| M130x2 |6-M16{139(66(165|Fig-2
N-218A11|450(149| 300 |43[22|196.869| 260 235 | 28 [6-M20|117.5|/6| 82 |79.75(15.25| 29 6 |[5(22| 43 |62| M130x2 [3-M10|139(66|165 |Fig-1
N-218A15(450(184| 300 (43|57|285.775( 235 | 330.2 | 29 [6-M20|117.5|/6| 82 |79.75(15.25| 64 | 41 (5|22 43 |62| M130x2 |6-M24(139|66|165|Fig-3
N-220A11 (510(169| 380 (60|41|196.869( 330.2 | 235 | 30 [6-M24| 180 | 6|112.5| 60.5|24.5| 52 | 29 (5|25 38 |64| M190x3 |6-M20(206|73|180|Fig-2
N-220A15|510(155| 380 |60(27|285.775| 330.2 | 330.2 | 33 [6-M24| 180 | 6|112.5| 60.5|24.5| 38 | 15 [5(25| 38 (64| M190x3 |3-M12|206|73(180|Fig-1
N-224A11|610(186| 520 |60(45|196.869| 463.6 | 235 | 28 [6-M24| 205 | 6|139.9| 87.5|24.5| 61 | 35 [5(25| 38 (64| M215x3 |6-M20(230(73(180|Fig-2
N-224A15(610(183| 520 (60|42|285.775( 463.6 | 330.2 |32.5(6-M24| 205 | 6|139.9| 87.5 | 245 | 58 | 32 [5|25( 38 |64| M215x3 |6-M24(230|73|180|Fig-2
N-224A20|610(166| 520 |60(25|412.775| 463.6 | 463.6 | 35 [6-M24| 205 | 6|139.9| 87.5|24.5| 41 | 15 |5(25| 38 (64| M215x3 |3-M10(230(73(180|Fig-1
N-232A11|800(189| 520 |60(45|196.869| 463.6 | 235 | 28 [6-M24| 230 | 6| 162 |153.5|24.5| 61 | 27 [5(25| 38 (64| M250x3 |6-M20(262|73(180|Fig-2
N-232A15(800(186| 520 (60|42|285.775( 463.6 | 330.2 |32.5(6-M24| 230 | 6| 162 |153.5| 245 | 58 | 24 (5|25 38 |64| M250x3 |6-M24(262|73|180|Fig-2
N-232A20|800(169| 520 |60(25|412.775| 463.6 | 463.6 | 35 [6-M24| 230 | 6| 162 |153.5| 24.5| 41 7 |5|25| 38 |64 M250x3 |3-M10(262(73(180(Fig-1

Odunnansublii npeacrapuredb B YkpanHe: 000 «HITIO HUKA CEPBUC»
www.nikas.com.ua

e-mail: tools@nikas.com.ua

(057) 764-30-60, (057) 777-02-72




